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QUESTION 1

Refer to the exhibit.
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A VNX Snapshot is started on a thick LUN at 09:37. The customer wants to know why throughput drops gradually after
the 09:49 data point.

What should be your explanation?

A. VNX Snapshot and thick LUN slices are some distance apart, increasing disk seeks.
B. Additional Reserved LUNSs are being allocated to the thick LUN.

C. The rate of thick LUN conversion to a thin LUN is slowing down.

D. VNX Snapshot blocks on the thick LUN are being migrated, then compressed.

Correct Answer: A

QUESTION 2

A customer has EMC VNX installed at their primary and secondary sites. They configured the CIFS file systems using
VDMs, which are replicated from the primary to the secondary site for DR purposes. What is the VDM status at the
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primary and secondary sites during normal replication?

A. Loaded on the primary and mounted on the secondary
B. Mounted on the primary and mounted on the secondary
C. Mounted on the primary and loaded on the secondary
D. Loaded on the primary and loaded on the secondary

Correct Answer: A

QUESTION 3

You are installing a new EMC VNX. All flash drives will be provisioned for FAST Cache. The VNX has the following
hardware:

6 DAEs

24 Flash drives

24 SAS drives

24 NL-SAS drives

How should the drives be physically located for better performance and stability?

A. The Flash drives should be placed on DAEO and DAE1, followed by the SAS drives, and then the NLSAS drives
B. The SAS drives should be placed on DAEO and DAE1, followed by the Flash drives, and then the NLSAS drives.
C. The SAS drives should be placed on DAEO and DAEL, followed by the NL-SAS drives, and then the Flash drives.
D. The physical location of the drives does not affect the performance of a VNX.

Correct Answer: B

QUESTION 4

A client is planning a virtualized SQL Server environment with remote protection. They need virtual
machine consistent, point-in-time copies of the database as backups.

Which option meets this scenario?

A. Raw Device Map and MirrorView

B. Raw Device Map and VMHA

C. VMFS vDisk and MirrorView

D. VMFS vDisk and VMHA
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Correct Answer: D

QUESTION 5

A corporation has configured high available CIFS shares using VDMs and VNX Replicator. During testing, the VDM and
user file systems switch over successfully. However, 30 minutes later the Windows clients still cannot access their
shares.

What is the most likely cause of this problem?

A. The CIFS service is not running on the secondary site.

B. VDMs are not configured on the secondary site.

C. Source side file systems are not correctly sized.

D. Source side VDM Replication licensing is not enabled.

Correct Answer: A
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